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Phys 112-01 Test 2 Name:

3. (20pts.) Acircular wire loop is located wmeto a long current-carrying wire as s\1o

in the figure.

(10pts.) Ifthe magnitude of the current in the wiralésreased, what will be the
direction (if any) of the current induced in the loop?

a.

A. Clockwise.
B. Counterclockwise.
C. Neither—thereavill be no induced current.

Explain your reasoning clearlyNo credit will be given for ary answer without
valid supporting reasoning.

b. (10 pts.) If the loop is meed to theright, (parallel to the long wire) what will be
the direction (if any) of the current induced in the loop?
A. Clockwise.
B. Counterclockwise.
C. Neither—theravill be no induced current.
Explain your reasoning clearlyNo credit will be gven for ary answer without
valid supporting reasoning.
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3. (20 pts.) A circular wire loop is located next to a long current-carrying wire as shown

in the figure. .
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(10 pts.) If the magnitude of the current in the wire is decreased, what will be the
direction (if any) of the current induced in the loop?

A. Clockwise.
Counter-clockwise.

C. Neither—there will be no induced current.

a.

Explain your reasoning clearly. No credit will be given for any answer without
valid supporting reasoning.
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(10 pts.) If the loop is moved to the right, (parallel to the long wire) what will be
the direction (if any) of the current induced in the loop?

A. Clockwise.

b.

B. Counter-clockwise.

éC.? Neither—there will be no induced current.

Explain your reasoning clearly. No credit will be given for any answer without
valid supporting reasoning. "
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